

County Distribution Detail Report through 04/02/2015

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,288	1,806	0	3,094	\$3,867.50	\$87.16	\$3,780.34	0.70	\$2,646.24
							Entity Tota	al:	\$2,646.24
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,646.24
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	4,919	10,006	38	14,963	\$18,703.75	\$385.89	\$18,317.86	0.70	\$12,822.50
							Entity Tota	al:	\$12,822.50
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,822.50
Bennett							Total Amo	unt:	\$12,822.50
Bennett Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Total Amo Net Surcharge	unt: Entity Percent	\$12,822.50 Entity Amount
	Telecom Lines	Wireless Lines		Total Lines 1,969	Surcharge \$2,461.25	Admin Fee \$56.60		Entity	
Reporting Period			Lines		_		Net Surcharge	Entity Percent 0.70	Entity Amount
Reporting Period			Lines		_		Net Surcharge \$2,404.65	Entity Percent 0.70	Entity Amount \$1,683.26
Reporting Period			Lines		_		Net Surcharge \$2,404.65 Entity Tota	Entity Percent 0.70 al: at:	Entity Amount \$1,683.26 \$1,683.26
Reporting Period			Lines		_		Net Surcharge \$2,404.65 Entity Tota Adjustmer	Entity Percent 0.70 al: at:	Entity Amount \$1,683.26 \$1,683.26 \$0.00
Reporting Period			Lines		_		Net Surcharge \$2,404.65 Entity Tota Adjustmer	Entity Percent 0.70 al: at:	Entity Amount \$1,683.26 \$1,683.26 \$0.00

							Entity Tota		\$5,106.32
							Adjustmer Total Amo		\$0.00 \$5,106.32
Brookings								unt.	\$ 5,100.52
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	10,153	18,817	74	29,044	\$36,305.00	\$735.25	\$35,569.75	0.70	\$24,898.83
							Entity Tota	al:	\$24,898.83
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$24,898.83
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	13,069	24,070	57	37,196	\$46,495.00	\$944.88	\$45,550.12	0.70	\$31,885.08
							Entity Tota	al:	\$31,885.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$31,885.08
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,801	3,416	4	6,221	\$7,776.25	\$160.40	\$7,615.85	0.70	\$5,331.10
							Entity Tota	al:	\$5,331.10
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,331.10
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	624	374	1	999	\$1,248.75	\$26.22	\$1,222.53	0.70	\$855.77
							Entity Tota	al:	\$855.77

Adjustment:

Total Amount:

\$0.00 \$855.77

Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	3,187	5,901	9	9,097	\$11,371.25	\$230.13	\$11,141.12	0.70	\$7,798.78
							Entity Tota	l:	\$7,798.78
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,798.78
Campbell									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	837	1,413	2	2,252	\$2,815.00	\$56.31	\$2,758.69	0.70	\$1,931.08
							Entity Tota	l:	\$1,931.08
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,931.08

Charles Mix

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	3,363	4,968	8	8,339	\$10,423.75	\$209.71	\$10,214.04	0.70	\$7,149.83
							Entity Tota	l:	\$7,149.83
							Adjustmer	t:	\$0.00
							Total Amo	unt:	\$7,149.83

City of Box Elder, Meade Co

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	69	8	0	77	\$96.25	\$1.94	\$94.31	0.70	\$66.02
							Entity Tota	l:	\$66.02
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$66.02

City of North Sioux City, Uni

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	970	72	0	1,042	\$1,302.50	\$34.98	\$1,267.52	0.70	\$887.26
							Entity Tota	al:	\$887.26

Total Amount:

City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	6,123	1,130	143	7,396	\$9,245.00	\$243.84	\$9,001.16	0.70	\$6,300.81
							Entity Tota	al:	\$6,300.81
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,300.81
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,684	2,361	2	4,047	\$5,058.75	\$101.21	\$4,957.54	0.70	\$3,470.28
							Entity Tota	al:	\$3,470.28
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,470.28
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,538	6,973	39	9,550	\$11,937.50	\$248.59	\$11,688.91	0.70	\$8,182.24
							Entity Tota	al:	\$8,182.24
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,182.24

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	9,030	17,587	33	26,650	\$33,312.50	\$676.58	\$32,635.92	0.70	\$22,845.14
							Entity Tota	l:	\$22,845.14
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$22,845.14
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,498	440	4	1,942	\$2,427.50	\$48.64	\$2,378.86	0.70	\$1,665.20

\$887.26

							Entity Tot Adjustme		\$1,665.20 \$0.00
							Total Amo		\$1,665.20
Custer									+ - ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	3,703	4,477	31	8,211	\$10,263.75	\$232.77	\$10,030.98	0.70	\$7,021.69
							Entity Tot	al:	\$7,021.69
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,021.69
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	6,988	13,045	183	20,216	\$25,270.00	\$523.39	\$24,746.61	0.70	\$17,322.63
							Entity Tot	al:	\$17,322.63
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$17,322.63
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,532	3,400	3	5,935	\$7,418.75	\$148.82	\$7,269.93	0.70	\$5,088.95
							Entity Tot	al:	\$5,088.95
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,088.95
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,203	2,768	5	4,976	\$6,220.00	\$137.94	\$6,082.06	0.70	\$4,257.44
							Entity Tot	al:	\$4,257.44
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,257.44

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,479	2,035	4	3,518	\$4,397.50	\$87.97	\$4,309.53	0.70	\$3,016.67
							Entity Tota	l:	\$3,016.67
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$3,016.67
Edmunds									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,568	2,678	7	4,253	\$5,316.25	\$106.54	\$5,209.71	0.70	\$3,646.80
							Entity Total	:	\$3,646.80
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,646.80
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	3,503	3,910	10	7,423	\$9,278.75	\$186.83	\$9,091.92	0.70	\$6,364.34
							Entity Total	:	\$6,364.34
							Adjustment		\$0.00

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,023	1,315	4	2,342	\$2,927.50	\$59.75	\$2,867.75	0.70	\$2,007.43
							Entity Tota	l:	\$2,007.43
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,007.43

Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,883	5,174	10	8,067	\$10,083.75	\$206.48	\$9,877.27	0.70	\$6,914.09

\$6,364.34

Total Amount:

0							Adjustmer Total Amo		\$0.00 \$6,914.09
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,979	3,547	3	5,529	\$6,911.25	\$149.34	\$6,761.91	0.70	\$4,733.34
							Entity Tota	al:	\$4,733.34
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$4,733.34
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,100	1,284	5	2,389	\$2,986.25	\$59.74	\$2,926.51	0.70	\$2,048.56
							Entity Tota	al:	\$2,048.56
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,048.56
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,069	3,332	7	5,408	\$6,760.00	\$135.25	\$6,624.75	0.70	\$4,637.33
							Entity Tota	al:	\$4,637.33
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,637.33
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,416	2,525	6	3,947	\$4,933.75	\$99.00	\$4,834.75	0.70	\$3,384.33
							Entity Tota	al:	\$3,384.33
							Adjustmer	it:	\$0.00

Hanson

Reporting Period

Telecom Lines V

Wireless Lines VOIP Lines

P Total Lines

Su

Surcharge

Admin Fee

Net Surcharge

Total Amount:

Entity Entity Amount Percent

\$3,384.33

2/2015	1,094	2,723	24	3,841	\$4,801.25	\$98.74	\$4,702.51	0.70	\$3,291.76
							Entity Tota	al:	\$3,291.76
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,291.76
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	752	750	1	1,503	\$1,878.75	\$47.47	\$1,831.28	0.70	\$1,281.90
							Entity Tota	al:	\$1,281.90
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,281.90
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	5,618	14,150	97	19,865	\$24,831.25	\$523.41	\$24,307.84	0.70	\$17,015.49
							Entity Tota	al:	\$17,015.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$17,015.49
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	3,436	4,764	8	8,208	\$10,260.00	\$205.22	\$10,054.78	0.70	\$7,038.35
							Entity Tota	al:	\$7,038.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,038.35
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	885	1,018	2	1,905	\$2,381.25	\$48.87	\$2,332.38	0.70	\$1,632.67
							Entity Tota	al:	\$1,632.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,632.67

Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	745	828	0	1,573	\$1,966.25	\$39.38	\$1,926.87	0.70	\$1,348.81
							Entity Tota	al:	\$1,348.81
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,348.81

Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,041	1,164	0	2,205	\$2,756.25	\$55.14	\$2,701.11	0.70	\$1,890.78
							Entity Tota	al:	\$1,890.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,890.78

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	604	634	3	1,241	\$1,551.25	\$31.04	\$1,520.21	0.70	\$1,064.15
							Entity Tota	ıl:	\$1,064.15
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,064.15

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,772	3,827	3	5,602	\$7,002.50	\$140.87	\$6,861.63	0.70	\$4,803.14
							Entity Tota	l:	\$4,803.14
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,803.14
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	3,461	8,751	13	12,225	\$15,281.25	\$313.81	\$14,967.44	0.70	\$10,477.21

							Entity Tota	al:	\$10,477.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,477.21
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	8,235	14,795	60	23,090	\$28,862.50	\$588.54	\$28,273.96	0.70	\$19,791.77
							Entity Tota	al:	\$19,791.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$19,791.77
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	5,938	35,823	197	41,958	\$52,447.50	\$1,105.11	\$51,342.39	0.70	\$35,939.67
							Entity Tota	al:	\$35,939.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$35,939.67
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,441	1,847	10	3,298	\$4,122.50	\$89.13	\$4,033.37	0.70	\$2,823.36
							Entity Tota	al:	\$2,823.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,823.36
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,012	2,675	8	4,695	\$5,868.75	\$120.10	\$5,748.65	0.70	\$4,024.06
							Entity Tota	al:	\$4,024.06
							Adjustmer	nt:	\$0.00

\$4,024.06

Total Amount:

McCook

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,240	4,053	8	6,301	\$7,876.25	\$157.61	\$7,718.64	0.70	\$5,403.05
							Entity Tota	l:	\$5,403.05
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,403.05
McPherson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,196	1,347	1	2,544	\$3,180.00	\$77.61	\$3,102.39	0.70	\$2,171.67
							Entity Tota	l:	\$2,171.67
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,171.67

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	6,605	17,179	162	23,946	\$29,932.50	\$626.62	\$29,305.88	0.70	\$20,514.12
							Entity Tota	l:	\$20,514.12
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$20,514.12
Mellette									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	647	613	0	1,260	\$1,575.00	\$31.52	\$1,543.48	0.70	\$1,080.44
							Entity Tota	al:	\$1,080.44
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,080.44

Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,149	1,537	2	2,688	\$3,360.00	\$67.57	\$3,292.43	0.70	\$2,304.70

Entity Total: \$2,304.70

Adjustment: \$0.00

Total Amount:

\$2,304.70

Minnehaha

linitionalia										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
2/2015	54,311	136,725	1,770	192,806	\$241,007.50	\$5,047.54	\$235,959.96	0.70	\$165,171.97	
							Entity Tota	al:	\$165,171.97	
							Adjustmer	nt:	\$0.00	
							Total Amo	ount:	\$165,171.97	
Moody										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
2/2015	1,596	4,366	11	5,973	\$7,466.25	\$173.46	\$7,292.79	0.70	\$5,104.95	
							Entity Tota	al:	\$5,104.95	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$5,104.95	
Pennington										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
2/2015	31,806	67,932	502	100,240	\$125,300.00	\$2,596.75	\$122,703.25	0.70	\$85,892.28	
							Entity Tota	al:	\$85,892.28	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$85,892.28	
Perkins										
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount	

Reporting Period	Telecom Lines	Wireless Lines	Lines	Total Lilles	Surcharge	Aumin Fee	Net Surcharge	Percent	Entity Amount	
2/2015	1,869	2,409	6	4,284	\$5,355.00	\$117.26	\$5,237.74	0.70	\$3,666.42	
							Entity Tota	al:	\$3,666.42	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$3,666.42	
Potter										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
2/2015	1,431	1,645	4	3,080	\$3,850.00	\$78.24	\$3,771.76	0.70	\$2,640.23	

							Entity Tota		\$2,640.23
							Adjustmer		\$0.00
							Total Amo	unt:	\$2,640.23
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	4,154	4,399	8	8,561	\$10,701.25	\$236.42	\$10,464.83	0.70	\$7,325.38
							Entity Tota	al:	\$7,325.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,325.38
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	1,011	1,737	0	2,748	\$3,435.00	\$68.72	\$3,366.28	0.70	\$2,356.40
							Entity Tota	al:	\$2,356.40
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,356.40
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,468	4,373	6	6,847	\$8,558.75	\$171.51	\$8,387.24	0.70	\$5,871.07
							Entity Tota	al:	\$5,871.07
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,871.07
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	875	2,113	10	2,998	\$3,747.50	\$76.85	\$3,670.65	0.70	\$2,569.46
							Entity Tota	al:	\$2,569.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,569.46

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	857	1,075	1	1,933	\$2,416.25	\$48.35	\$2,367.90	0.70	\$1,657.53
							Entity Tota	l:	\$1,657.53
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,657.53

Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	0	14	3	17	\$21.25	\$0.43	\$20.82	0.70	\$14.57
							Entity Tota	al:	\$14.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$14.57

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,783	3,768	7	6,558	\$8,197.50	\$163.97	\$8,033.53	0.70	\$5,623.47
							Entity Tota	l:	\$5,623.47
							Adjustmer	t:	\$0.00
							Total Amo	unt:	\$5,623.47

Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,392	5,749	10	8,151	\$10,188.75	\$205.07	\$9,983.68	0.70	\$6,988.58
							Entity Tota	al:	\$6,988.58
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$6,988.58

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	4,871	11,434	61	16,366	\$20,457.50	\$474.21	\$19,983.29	0.70	\$13,988.30

							Adjustment	:	\$0.00
							Total Amou	nt:	\$13,988.30
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	2,537	3,502	9	6,048	\$7,560.00	\$152.50	\$7,407.50	0.70	\$5,185.25
							Entity Total	:	\$5,185.25
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,185.25
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2015	6,694	14,415	24	21,133	\$26,416.25	\$536.72	\$25,879.53	0.70	\$18,115.67
							Entity Total	:	\$18,115.67
							Adjustment	:	\$0.00
							Total Amou	nt:	\$18,115.67
Totals	266,486	537,517	3,735	807,738	1,009,672.50	21,046.92	988,625.58		